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GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering - SEMESTER-VI « EXAMINATION —~ WINTER - 2014

Subject Code: 361919 Date: 6-12-2014
Subject Name: Power Plant Engineering S
Time: 2:30 pm - 5:00 pm Total Marks: 70
Instructions: :

1. Attempt all questions.

Make suitable assumptions wherever necessary.
Figures to the right indicate full marks.
English version is considered to be Authentic.

1.Explain enérgy coniversion in Nﬁéié'?“ar“ﬁb\'iief"ﬁéiﬁf“and‘Di§éf§ﬁgihe power

Plant with block diagram. _

2. Explain solar thermal power plant with neat sketch .

1. Plot carnot vapour cycle on P-V and T-S planeand state limitations of
carnot cycle used for steam power plant.

2. A steam power plant working on a Rankine cycle entering a superheated
steam in the terbine at 50° C and pressure at 25 bar, if the condenser pressure
is 0.4 bar than find the thermal efficiency and specific steam consumption
neglecting pump work .

Define draft . classify draft system used in power plant and explain induced

draft with sketch.

Name different high pressure boiler . Explain Benson boiler with neat sketch .
OR

Define super heater . List different types of super heater and explain any one

with figure.

List the steps for starting and shut- down of steam turbine .

The cooling water enters the steam condenser at 25° C and leaves at 35° C.The
vacuum in a surface condenser is 715mm of Hg and barometer reading is 760
mm of Hg. Calculate condensor efficiency .
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State function of cooling tower and explain hyperbolic cooling tower with
skatch. '

State and explain parameters of a steam turbine performance.

1. State the purpose of various records maintained in steam power plant .
2. List various methods of Tariff and explain Dobherty rate method .
1. Draw cooling system of diesel power plant indicating various components.
2. What is cavitation in hydraulic turbine . Explain its effect in brief.

OR
1. Differentiate between Area control system and Centralised control system.
2. State effect of load factor on cost of power generation .
1. What is Supercharging ? list various methods of supercharging in diesel
power plant .
2. Explain specific speed of hydraulic turbine and state its equation .

Explain with neat sketch the construction and working of boiling water
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1. In a gas turbine plant working on Brayton cycle ,the air at the inlet to the

compressor is at 1.01 bar and 16°C. the pressur ratio is 5. And the maximum

temperature is 810° C.Find (a) turbine work (b) compressor work (¢) work

ratio (d) thermal feeicincy. Take r= 1.4 ,Cp = 1.005 KIKg’K.

2. Explain chain reaction and state condition of sustaining chain reaction.
OR

List the advantages of Nuclear power plant over steam power plant .

1. List various methods of improving performance of gas turbine and explain

any one .

2. Define (a) Mass NO.(b) Isotopes (C) Binding energy .
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